REQuLE 244 99 159 = ut

o] a0l M=z Aot A=A 14:8-23
[E]&z[m] OEE0)]
NEYEN | | o ag uo BB 2 = we e 2o B oz an & E%
sz
m 22| QYo ZAHE TS2=Z SHEAMUE Aol Cha A LAl

2. =] Ao & A & BS2 o LIYL7E? (H14:10)

3. BI20| RAEHMM 58S A W S 22| Rste AHFHOA O Lo LOo{&tEL7t?

(H14:8~10%)

5. Hi2= Sofl 7|0 LoLtat 0130 o ZO| LOoRtsU7? (14:11~14)

6. Hi=c] ACOF & M| A BS2 O LIYLI7E? (H14:20)

o

7. BF2O| 4w ©f O Lo| LOIHEUI? (H14:19)

8. 0| 30 =3 A7| ?lo SFERCH W S0 A o2 &2 FAYLIT? (£6:17)

L

) &l @ 220 HES0| 2E 2 ¢ © 22057 ZE FUS st © 2024 MAH I ofM AL FA
J|E | OIM 23S At&3HA StAlR, ot M Sals AEE ISA = +HS|(RIE|0)et AAFT O
sl7| | Lt9el Bol YUgeR ghgd  SpAIR, ad YOME =32 o MEZ|(QIZHAIOL - Qlx) 7t

I 2ojLts =2t StLtEel o 1 Moz UZ9| YAE E| O SHHES 256E FOFMA
A AESH StAM. o= 13| A dtaAM. St At HOf SHH SHAA.




